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[ INSTRUCTIONS |

[Mease vead carefully and comply)

Firlly read the complete sct of instructions carefully and alse see the instrantions on the
Bark side of the OME Answer Sheet and fill the details in the OME Answer Sheet and
Cluzstion Booklel

One pedagrash each in Hindd and English is given in page 1. Copying of the paragraph
i the space provided in the OMR Answer Sheet (in the langoage as filled ir
the application formg erther in Hindi or Brglish) in vour running hand is compulsory.
T3 WOT USF BLOCK LETTIERS.

{a) CQuastion Gooklel Serizl Mo, musl clearly be weitlen and marked in the bublile: in
the space provided in the (VMR Answer Sheet,

(b} OMR Sheet Moo shoemld he weitten i the space provided in the Chieslion Aonkie

After bueing instrzcted to open the Bookiet, the candidates will open the scals. Tt is the
sosponsibility of the candidate to check and ensure that the bockler conzaing
150 yuestions and statt the paper from page no. 14

The uestivn paper cornprises 150 questions and ane available in congroentrersions of English,
Hirufi, Urdw, Assamess, Bengali, Manipur, Odia, Telugu, Marafhi, Gujarali and Kannada
Tangaages. In case of any doubt or confusion, English version shall pravail.

Al questions are of Objecdve type. Thire 15 only one cormect ansirer trearh ql]mliﬂnca:rying
e miark, There will be negative merking for wiimy angwers,  For every Wrong answer,
1/3 mack will be deducted.

In the ewenl ol ary misiake n ooy guestion,s, candidates will not be penalized. Howewes
corrections will be made in guestion,s during the samination,

Yinr must use Blue or Black balb-point pein anly [or answezing, Alterime of answers omee
enfered is not permissible. Encer the anawers in the Answer Sheet carefully,

Roagh woark, of any may be dene in the Chieslion Boaklet only in the space provided ot the
end of the Bocklet No addibivnal paper shall be provided.

Use of Log tables, Caleudaior, Slide rule, Mobile phone, Paser, Digital disry or any other
electranic Hem /irsteuiment, et is not allowaed. Their use will result in disqualificatinn

Mo candidate should leave (he examivstion hall before the final bell. The Answer Shoet as
wed] ay the Top Sheet of the Qusstion Booklet should be hinded over nother 5o the invigilaior
befora laaving the Fxaminatinn Hall
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SECTION -1
ENGLISH
1. Tdentify e ciby widch faced Sarge seale desioactions dize o Hod md’ cyclome recently 7
{4) Chenra By Wishakbapatram () Holkata () IMyderabod

I3

The Fundamerial Duties of the Indisn citizers are incorporaied mothae fallowing Arkcle of
ouy consitueiion 7

(M) Article 31 A (B Arcle 31 A 0 Aricle 370 A (1) Adicle 13 A

¥ Taespeed of sound i is appooxical=iy equal o
I (A} S0 mfue (B) 230 difsec (L BO0D wn fees (I L5 ey sec

4. ook Wioe Tnsteuements mead -

{A) TPeak value () Average value (D) noms value (1) Nore of these

5.  Glrain Gauge 16 msed to convert
(&) Fore inig displacenen!
{3 Mechamicar displacement mdo change o resistance
(CF  Elactric current inco Mechonioal uisplacesenal
(17) Sound Cnergy irto Electrc Energy

6, Tf an olfect les i Hund quadrent, s position with espect. 1o relerence planes wild be
(A} ToFront of VP, Abpwe TLIL (H1  Behind VP, Above HLE.
{01 Infroni of VR, Telnw IT.F M Behind V.1, Delow LT

e+ sy

7. Find the value of o = T
[FBEE — (T8 * 2835 + (237]

{AY 1000 iy 536 (R0 (o 2ad

& The Headquaclers of West Ueniral Rathwmay is lncated &t
(AY Tabulpar (Bl laipur ) allahabad (1) Abmedabad

B, T fimeness Modulos of send 525, it s graded as
A% Mediom sand (B Fine sand (i) Loarse sancd (LY Wery coarse sand
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,'.}\

)

MOTE: The information provided here is for Reference. It may wvary Original



wwwW.recruitment.guru —

3 15
; 2 e
10. Hlegga- it then the valwe of 5" s
1 e .
& 5 By = ey 12 By 4

11, A e which corkains ransent date to be processed in combanatior with a master file s

ralled
1A Soquenbal fle (B Waster file
{C)  Ramdam arganeabon file (Tx]  Tremseaeson file
12, MC DMoving Colj and ML (Muoving Tron] type of mstroments can be distngoisbed b <
1415
[4) Hange () Size of erminals (L] Polnler (L Hcale

13, Compiler and inierprelens arooosanples of ©
[A) System software (By Application software
() Baorh {4) and (B) (I} Mone of these

14,  schmite triser s also known as
(&) Swesp cin (B Blocking cecaillaber
(L) Squaring cirenil (1 Stakle mulli vibraior

15, Find the missing berm of the Fallowiig sories ;
i T s o B
(A) 17 By 18 {a ] iy e

1
16.  Find the valuw of fE?-j_-'_‘,f g

{(A) 34 5 14 (L) 34 16

17, Which af the feliowing is a greannizting praphics soliweary ?
(&) M5 Wmdows (B} M5 Word (0 M5 Exenl (13 N5 Poweerfoint

18, Find the misging term of the tollowing sories @
BLA YO BRE, 7 vk
(4] HWG B HLG {1 WHG 53 A W LN

T5D001414
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19 Which of the Sofloswing is miodegradable solluang ?
CAY DT i) BHC (O cCetterrelath (DY Mercury
20, Who s the Chiod Munsler ol Tl Madu 7 {4s on 21,11 AN
(A M. O Pannesveelvaim [# M [ Javalalitha
(T My Xoruranidhi (I Mr. Davanidhi Maran
20, With che formation of I'slangana, hmy many Saoss are there it owr coonty now 7
) 30 [k 20 [ 28 0y 31
" 22, Fird out the term which is different from other terms in the fellewing -

22, 33, 66, 99, 171, 279, 504
() 99 (B 121 iy 2vy n} bug

230 Trams(ormer cotes 3ve unosted in order o -
- (A} Minlmise eddy cmment loss B}  TReduce cost
(€7} Simplify it copstrucsons D Wore of thess

24 Which oo of the frlfowang is nat @ Noble Gas 7
(A Helom (B Brumine [} Argon (LY} Ieon

25, T whiech af the followsng applications. = THE. motor s prederiod aver am A0 mator 7
{41 Wariable sresd cperation (B Higl szeed cpreration
{C) 1o speed operation (T Fived speed operalion

26, The nuclers ol an ssom generally, contsine
(A} Drotors and Neutroms By Protons amd Electroms
() Electvons and Neubrons (I Only Neatons

7. Mhe Leguage which o compater can understand s -
(&) ITigh Level lanypaags it Machine Langaase
(C)  Assencbly Lunguage (1 Al of thess

28, A four smake pesral arpine theoretizally operates on

(AT Jouleovcle (Bl Ot cyele
(L} Braytom eycla (T Bell enleman cycle
Tsoaid
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9, Saeredony o esukin Plormeonie s Ty
iA)  Tnyroid G Titwitory () Adrenal (0 Tancrees

&0, Tama Maspd at Dol was buill by
A Lhar : (i Tahamesr L) Saan Jahan (07 Amrancecl:

31 Which one of te Il 5 alse knewa 2 Red Planet 2
1A Memcuary (B] Vsnus 1<y Earth I Xdars

32, Wha w-ote the book “Mol Tust An Accountant” pabidshed meently 7
(&Y T Farakh (Bl Sanjay Bano
(7 Vinod Hai (2 Natwar Singh

23 Insand Moulding, the fop Task is nown as
(Al Cope (B] Thrag () Check (T Fillet

23, Troaoweell conditloned iangle, no amghe shoold be less than

(A 6 B 500 (L) B (DY 45"
35, Findthewalue of (Lt 20314+ __ #4145
(A) 2140 (B 2070 (21 Imas [L 3280

36, I & Ihin nectangular plode of &1 mm =30 mm 5 inckined at an angle of 80° to the Horizortal
Flang, # top wivw ooy be
(A Sguare of 30 mm size
{Bi  SBquare of 61 mm &2
(T} Rectangde of 6 me 45 on sise
(17} Reckangle of 45 a0 30 eum size

37. PRed rotis a plant disease which affects
{a) Bheat {d) Rice ()  Sugarcane (L) Cotton

38, TopeF canfill 2 bark m 3 hours and pipe 0 can fill thue tank in 45 hoars. T8 both the phoes
are opened simultancowsly, then how muuh time will T taken to £ this tak 7

{A) 20 hours M A= hours i) B howrs D] 42 hour

19. Cartbwoom belonga ta which of the folivwing Aaimal Thyla ?
(A Adbenpada M Molleso 0 Annclidie (M) Trotesoa

TETHHITATL
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40, Wher Ram and Mohan wilk logether, ihay corplere a wnit in 4 cliys. If Ham alone oo
cotpleie this work in 12 davs ther inhaw LR TS n;'|_'='|_l,."-_' Malan slone can L"-Z-'i".l'l]-'-'lelﬁ 1
wark ?

(A 10 days iH &days [E] - bdave 109 16 dava

4. A kimply supgorted beam of Tengih Lis leeded wath 2 wefaveds Dstritbeied load of o pir
urit lemgth. The masdmom berding moment el be

2 N 2 £
(A “-’lr— o i (0] wl?
¥ 5 Z,

4. Fioe an provided om hest transfernir s suface in order o morease
il (A] Hral Iransfer area i Heal wanster cosfticient
; (Cy  Temperabire geadieut (11 Mecharizal strenoth of the equipment

43, For pertactly elastic bodies, e value of coeffcient of fesdtation 1= -
iA) zere (B n= 1.0 () faR

14, Whick eme of the lollowing i= rot a scalar quantiiy ?
(A Volume () Mass i Foree T Iaeeth

45. Fird the averape of all prime numbers batween 30 and 50
(4] d# A ) a9 T A8

#6. I an examination, 35% of the students passe:d and 455 fadded. Haw many students appeaned
for the cxamination ?

Ay 700 {B) 1300 (3 4% D) 1250

47, TFind tie L M. of 148 and 185,
[ iT 740 [y 29a0 (13 3700

48, A4 - pale, 1500 rpomealternator will penerate e § as -
(A} Wi (B) 60 Hz [} 40 H (T 5054

49, In snoexpmination, a stodent gets 4 marks for everw correct answer and Tasse 1 ek for
gvery wring angwer. If e sttt inoall 60 guestions aed secuares 120 marks, ten G the
ramber of questions he abempted rarecily.

{A} 42 {A) <5 i () a8

TsD001414
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B0, Ampuere serord is the wnit al
{Al Charge B Tower {0} Woltage i Cnergy

1. Omeside of a rectanggalar Gield 1513 mckres. The length of diagonal of Sis rectangular field =
17 s, Fand theteea ol Brs roctanguiar feld:

; : : vl
PA] 120 e iB) sl m? (€} 255 m? oy 14 = m?
52, I'he rew:ltant of two fances P and Q acting al an angle €, is given by ©
i) yPE+E 210 tanb B JF 0 P sine
i \.'IP-" O+ 2800 crah T P+ O0+32P0 and
33, PowerTass inaredsior is given by
i 2. 15r-l
tAy P=VTR 1 LT i T'= 11—'1 o Po= e

34, 1f the cost o *x' metres of wire is “f mupees, thon what is the cost of W metres of same vre ?

o e A0 b A
'-':ﬁ"} T 1!3} 1 {C':' T |:El.; Xy

5%, Primary stomge oo compuler levminslagy reters to
(A Flard Disc Lirive
(B Random Accoss Memorg (RAM]
i) Read Ovly Memory [RCM)
{7 the gtorage deviee where the operating systeom s stored

F6,  Wlich of the following flip-flupe ¢ used as Latcn 7
(~] 1K dlip-tlop M RS fip-flop L D Aip-lisa i T flip-Hop

i
2

il il framelste the complete progrmme at orae om @ gh level language b the
machile langeage. )
(A)  Compiler B Assemlor (L) Joyshek () Bue

58, Whach of the Frllowing i a primw purnher ?
(A} 33 iRy ¢ (& 83 o 97

THLHHTES
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58, The ol aumber of banes in ihe averazge adule hemar shelaton s -
iA] 350 (B) 20 <) 115 (M 540
off.  Water has il maximaun demsity at
| (A) 07 () 10nec [ Wl D} 4=,
61.  Which al ifu: following processes s geteradly used bor naes prodection of conmecting rod of
Auntomnnile 'E:|g::r|.e{-{ T
(&) Sand Casting (W) Cold Meading  {03) Forging (D} Spinning
62, What 5 (e General forteala of Alkanes ?
| ."fl.. (A CHppes ) GLHL ) GHs 1 B a0 S
ull
| l:l 63, A gaie in winch all nputs st be Algh to met a low ouipud is -

(Al An inverbor (B] AND gake (L) NOR gate (D NAND gale

62, Which of the following Amphfiors produces e least dislcrton
0] Class A (B Class B [ Class AR [y Chass

65, Uvclo comverler colrverty -
(A) AC 0 DO
My TR o AC
) A fed AU Lo o variable magnitade AC
L A Fxed T Lo a variable magnihicle DC

66, Sooaradion of water or sand or cement fron i frushly mised roncrele is kaown as |
{A) SegrepaHan (Bl Creeping Ty Aleelg (T Flooding

67, The value of binary 1171 iy :
jAp o (B -1 [z, 2t (o #5—1

68, Thu Lnad which doss not change s magnitude and posilion with Bme 35 called
(A Live lesd (B Dynamic load (2] Creep load AT Cread lead

3, Tind the missiog ween of e (ollowing sesas
A e R R T R
(&) 25 {Bl. 21a (6 ST

a

TSDN1414
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Lne entropy of uriverss tends To le

(A% Witamum | Foro iG] Averape (T Maxinuom

Arnmania s prepared commencially by e
(Al Owwald proress (T [all process () Contact process ([ Haber process

& Tmliet 15 fined veslically upwards with & velocity of 196 m/ssc. What 15 he masinmm
heizht reached by the bu'let ? {Assuming g =48 my st

(A} 1%L m B L m [C)y 980 m {480 m
e il ) o+ lfl
If == =, then find the value of —=
g 0 at =y
il o
(& 11 (T n () ? [y 4

Goutarn Sudclha deliverid his lirst sermens at -
(A] Kusinagar {A) Sarnath {CY) Tataliputra {11 Vaichali

The "Quit India Movernont” way lzunched in the year
(A1 150 A (B} 1830 AD. )y 1942 A0 () 1946 A

“When a ody 3z wholly or partially, smunessed m a fiid, it experdendes an npthrust egual to
the wasigght ol the fluid displeced”. This is known as:

{A) Tascal's principle (#)  Archimeles peinciple
(€ Stoke’s law (L Mewtom's Laws of Idotion

Misinfection of drinking water is done {0 remove ©
Ay Odaur (B Haclerias (2} Lurbifity M Colour

Frojeciion of an object shown by three views is known as |
(4] Forspective By Uiblique {C] Crlhagraphic (D) MNone of thes

the Unied Kations Day (UK Day} Iz celebrabed cvery vear on
[A] Tioc 26 M) dov 14 () Bepts i Ot 23

T5D001414
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HO. Tt boumd B, Ao the uptimustic, pessipristic and rst [kl time cotimtes o s acke
Pespertively, then the expecicd dmee of the 2otivity weill b -

P e by + ity 4 BE
i =P o o T - BT T
f } 3 [r.-l 5
- by ot o By iy le st an
4 Ty &

e )

81, Choss the uption which siractly shenws the velarionship betwern Muadalus of Elasticity /7).
Medalos of Rigidiy {0 and Fulz Modilus (K 1

KL ZEx” ST SR
£ gy E= el At L o i ) i 00 -
l{: . () e ) mae 19 o T K+
B2 Win is he wirmes of Mens Singfes Litle m Teanis 1n LS open, W14 7
4] Roger Federer B Kei Mishikord
1 Marin Cilie i Kalael Madal

B3, The ciuments which Rave SIS wass mimber bl Jifferent atamic nunbers are knowr

o
(AY  Tsotones (B8 lsubzis {C) Isctopes ™ Hakrgens
Bd.  Weld spatter 15 afan
{AL Flus (Bl Elecirode (2 Walding defart T2 Mone of these
85. A CRO ran dizplay |
(A] IuC shenais onby B A signals anly
(Y Both LT snd AC sgrils ) Tume - Aneardant siemals
B, The pollotart responsibie fop vazony holes ia -
{A) Lo, B €O (C1 50, 15

87, A bansiormer Kew 1O Prituzy oy, 1L iy connected 1o 250 wais A
nunber of secendary lumes o get sevondany velbape of 400 vl

A) 1600 (B ©25 €1 100 i 1350

supply. Find the

BE.  Lukpriva wsapirath Gasekoloi Tnternationa)l Hirport s localed gt
(A1 Tasgnr B} Banuslore (2 Gowakat (L Hyderabad

Ts1Mra14
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84 lirne comstant of o sories BL ciecwtis

L f
(4] LE seconcls (=] R:%v.’!::tmds (2 IR seoornls {13 LR sevoncs

90,  Who wrote ‘Lndica® ?
ra) autilva (#)y  HKalidasa {7 Shudraks (TH Wrgasthenes

1. Wha s the witnwr of NMahel Prize, 214 in the ficld of Economics 7

(A Tatrick Modiano [F Mdalala Yousafrsi
{0 Joean Tirole (L Kadash Saryaread
47, Acwlolran s & : {
{A] Runch of Gamma Rays (3 High Srequency Cocillabor
(7} Pavticle Acceletator (LY Mone of fhese

83. A man buvs an article for € 490 and sells it for T 48550 Find his loss percentape,
(A 4% m) 45% = 5% M 53%

44, “The Servaids ol India Society” was founded bv:
(A} Jrotila Fhule 38 GKR Gokbale ) BG Tilak i BR Ambedkar

95 Find the angle botween the bour and and the mivnte hand of 2 cock when e time is 1025
“oars e 25 mimtes past 10 7

i iy
(AT T8 (B} 165° © 1 (O 152,
i %6,  Hapkinzon's test for DL, mobers is conducled of -
Al Low Load iy Half Load 521 Full Load My Mo Taad

47, The diewensions of 2 hyick eare 10 cm=4 cm = 3 om Whal 5 (e intal surface area of this
Thrick ?

(&) B2emd B Llad eo? (0 1E e D) 180 em®

98, Ta beeligible for elected as President, 2 candidate must be
(A)  Cmer L3 vears of e Bp Croer M wears of agc
(€31 Dwer 30 years of age (107 Creer 6 years of ape

TsDM01414
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| 99, Theveducss hoaring af 2 Hee s WET W Tls whole cieds bearing ix -
!; T ] LA (S oy gre
' ; A 4§ g ; :
108, Agrande the fractions =, —. = and Soikd their deecnndiog arday
257
S 2 a3 4 - B, & 3
A SR B = B e e
= IR el e R s
o R R g g g o
B g s el m B 723750
. § B Phe pressore exerlecl on the walls of a cortainer by o gas @3 due to tho fae: thar Gas
h I! ket e
13 ) Stk e the walls of the contaimer

(3] Losa their Knetic arengy
(T Get aocelerated towaridys the weall
(0 Change their moment nm die o coltision with e wisll,

102 lhe tiermeal ditfusivity of 2 substanse is grven by
Ep 4 iz i
4 : By == ] = B ==
A I o o F
[Whene I - Thermal conductiviby p = Mass densily; O = Sperific leat]
103, Bovle's law states that -
(4] The aressuree of o gas vanes dicecly with temperamure at constant voluma 2 FoT.

(B The product of pressura ard solome of o giver moss of o gos 15 constart al conslant
temperature 1o 7V = comstant,

(T The volumne of a gas waries ducetly with tempeeranane st comstant pressire 1o, VT,
(21 The pressure of o gas varies divecly wills volume af cohstant Sernperature 1o, Pal.

1. AL what tempesaturne, oty Celsirs and Bahreaheil scales will shuow the idergeal readings 7
[A)  To0* {8y 0O° wa e (D] 407

105, A capacitor stores 1 coulomb at 10 volts. Ik capecitance is {f —farad)
Ay i moar [ T V0 (o o f

1h. Who is lhe Chalrperson af Madiors. Cormmizsion for Womer in India 7 {As on 0011207043

(M) Tayash Paimail B Givija Vvas
I Mamla Sharma (L Lalitha Kumaramangalars
TSR3
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103,

e,
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In 2 cevtein code lemguage, "FLARDS be wrrithen BT, e whal will 2o the code wf
ALK ¥

(&) CRNP By FNRD (€ NROP () RGP

The Famous cninese pilgnm Ficun Tsang' visited [adia dueng the roign ot 2
(A} Harshavardlan (M Chandramepla 7
{7 Ashoba M Kanizhka

wher an poject s cal by & sectiva plase, parcallel Lo 1 L0 and perpenclivular o VT, then ihe
sectional view of the vbrect s oblained in

(A Lo wicw (H}  Front visw (] leftsule view (D) Right side view

A congluctar of axial length 80 eme cerries a suerent of 100 A and leg at right angle toa
magretic Feld of soength 0.4 weela. Wikt 15 1he force exerted on it ?

A} 10K B 12N C) 12N iy 0
e properiy of a meterind by which it can b volled indo shants 46 Called
(A Thastoity B Plasticiy {0 [hectility (1 Halleabitiey

‘Chidoha’ w5 a folk dance of :

(&) Pumjab M Uttar Pradesh: {C)  Assam iy Maharashira

Identify He dissase which is ceuged due 1o doficiency of Protein ?
[A) Searvy H HeeBeri {01 Migh-Blindness (D) Kwashiorkar

s which of the follewing, the inlrinsic serm candinctor Silicon pe doped o onder to obtain
poipe soaii-comdactor ¥

(A} Buoron (B Thesphonus i Gallivm (7 Bome ol hese
wWhich ol the following s a Lamiveral Lale i
(A ANLD Bl NAND iy OR (D NOR

Lhie Ter b of bwo trains sve 240w ann 100 m respectively, I they wum al e saeed of
@il kenhoand 40w b respedctively W oppotite diretons s 3 rallel tracks, [hen bnd B
e i which they will mroas each olher,

{10 s (B) T2 s ) 9 ser (H B sec

TEM414
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N7, Which dewrice chanmey the ditemaling el penarsted v b D Generaior 1 ils HITALATE
il o D 7
[A) Slipong (Bl Baclilicr 151 Comunurata T Mone of these

118, 6 1% Tonuary, 2014 was Wednesiay, then 20u Uvamber, 2074 weill ba
(4 Thirsday B Monday (T} Sawrday (G} Friday

1D A kiacisp:
Ay Two werminal Bidizections) switch
(B} “Lhrae lerminal bidireconal awitch
() Treow termiinal umiedirecton] switch
(D) Three termirtal und-directonal swinch

120 The angle of elevabion of 2 ladider leaning Apansl o wall s 00 La laddey makes an atgle of
B wilh fhe pround, The faot of the laclder is 46 mches away from dhe wall, Whal is tha

lergth ol this ladder ?

(Al wdm i 23m [ B4 m D) 78m
121 Caleha is am are nf -
[A) Tead B} Copper ) Aleminm (19 Trom

122, The s of Ben tumberns 540 und the diffirence of thess bwa mumbers is 4. Find e rago ol

fuse hwo nimbers.

{Ay 11:¢ MWy 11:18 i} 229 T 1713
123. The BIS codi whicly deals with steel strichires js
(A1 BIS: 45¢ (H)Y BIS : &0n DSy 1L LY TS 1Rea

124, The ares of an squilalend miapgle i 2T om®, What ia il petimerer of this equils meg]

lriamels: 2

(AY 96 cm B 48 am 451 I e L A T

125, Wher we oper an interoer sile, vie sow w7 Tha e the full farm of w7

[A) Woeld wWide Weh 1By Weorld Wide Wora
M) Worda Wiss Wb (0 Nome ol these
THOFI12
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126, ‘lhe tarms “Cperalimg SYEtery means |
Al A sel of programmes which confruls compater wordng
{E)  The way a compnaer operater works
(€3 Canversion of high level lnapage ko machive evel langiapgs
(L1 hone ol thess

127, o point woves in s plaw in such o way that the o of ite dietanees from o fied points
15 comamnl, The coree o raced 1 calied @

[A) Parabola {5y Clipss D) Hyperbula (O, Al of these

128, A hy'rc is ENULp af:
(4] 2 biks (B 4 (1 oo Lile 11y 1o lits

179, Who is the Presidend of China 7 (45 oo OLLE 904
(&1 Li kegiang By XiJinmng 5] Ghimew Al (D Hha Jimtas

130, Whu is the speaker of present Lok Salha 7 (As on T A2
iA) Smit, Sumita Mahajan By Sl smshma Svara)

() Seak Meira Famar (I Moneaf these

131, Ravi runs 200 metres in 24 seconds. Tk his average speed |
Al 20 kmfh M 24 kg b HZ) 283 lagh (D7 30k

135, The relstionship belween Bulk densty {v), Dry density (v} and water content int) foor zoil

1.3
| (A) w=rallbod (B pmvldel € YT e by vl el
|
| 133, Widch courtry won the FIFA worlid cup, 2014 =2 Fanitall
(Al Gerrnany () Argsnlina £ Drazil M1y Prance
133, Whictrof the followimg is sl o cold working procs: !
(A} Bxtresion (A Rlitdri (Zh  Biankmg 1Dy Tardng

135, Pointing tow manm @ pholagragh, Asha caid, “ His mother's only damsghter is my mother®,
Hiwe i thial man related & Asdu T

[A)  Brother {B)  Maternel Unele (8} Grand father i) Fatler
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136, Whae i 15% nf ™ kg 7
(4] J4 kg (Bl 575 kg iy 450 ke in 2t kg

137 Sachin = vounger than Rubul by 4 yeess. Tf their gy are o e ratic of ¥ - 9 then How ald
iz Sachir: 7
(A1 14 yoars (B 21 wears i1 18 wears L 25 years

138, Which ene of the fallowing inslruments will be nsed S mMeasuTing eeclric current 7
(A1 Volomesle (B)  Amireer [C] Cheninetsr 1Ly Wavemeter

Hﬂ“] BT e I Sn_i-a’ then the value of 2 is
t (A} 3 (A 2 g T EIF el

120 The length of ubar is L metres. Tl extends 27 2 me when 2 tencile forcn F ‘aapphed. Find the
atrain producel in the bar -

A 2 i L

a X " = @ 2 0 |
181, Large seale defuvestation decreases -

i4) Sl Frosion (B} Xain fali (&7 Droughd (T Glebal warming
142, Ferofh Law of thermod voamica farms the hasis of ot MRkt

(A)  Pressure W Temperalun (S} Work (I Womentum -
13, BOL Bie Chemical Owrpen Dlernand] of safe drinking water nust be

Ay 0 B} 50 ppm () 100 ppm T 2 ppm

T44. Lhe stenderress matio of a compression membor w -

Flivctive longth Agtual | 1
{A) BT o i ]ﬂ".ﬂh.—
: Lataat racliess of gyvration ' Memnent of ingriia
- Momenl of inertia Actual length
(€ Actuad lemgily () Radius of pyration

145 Which Maliomal Tark is known far the “Asiatic Lion 7

Al Corbett Mahonal Park (B} Ranha Nalional Fark
(C) Hendipar National Tark (TX G Natiora! Parl
TSDM01414
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180, Tn whish of The follow!ng rovemment did Cavdbil maks the first aan of Hungar St a5 &
weapUn ¥ i
(A Abmedatad strikd, 1418 (0] Heowlatt Satva grilis, 1919
L () Swadneshi Movemenk, 15 iy Charnparan Satvapraba, 197

L i
147, Find the simple inderest oo T 1800 2l vhe ate ol A= % par ancum for a periag of

2 years 3 monis, e
(A) % 7 (B} %816 (L) TEHIE (T :

148, Global warrming 1 cabsed by : .
() My Ay COy {0 Dzone D Mone of tess

148, Fow many terms are there in the fellowng saries E
2, 208, F15 i B 1
(x) 26 B 23 <y 24 (D) 23

1530, The Tndian Standzrd Tioe (157 1w ahead of Cresmwich Mean Ve [GM I} Ry

(A G hours 1) 5 hours
(1 & hours 30 rminuws (121 5 hours 30 minuates
g b -
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